


DRAWING MATERIALS, MATHEMATICAL. and ¢ { l ‘L
SURVEYING INSTRUMENTS ,
Chicago New York San Francisco New Orleans Pittsburg - Toronto !
Distances from Center of Roadway for Cross-Sectioning
Roadway 16 feet wide. Side Slopes 1 on 1.
For Single Track Embankment.
Hljo|a|z2|[s]a[s5][6]7]s 9 | m
O 80| 81[ 82 83| 84 85 8.6 8.7| 88| 8.9 0
1 9.0 9.1| 92| 93| 94| 95| 9.6| 9.7 98| 9.9 1
2110.0|10.1 | 10.2|10.3|10.4| 10.5 | 10.6 | 10.7 10.8 | 10.9 2 .
3(11.0|11.1|11.2|11.3}11.4{11.5(11.6]11.7 11.8 | 11.9 3
4(12.0]12.1112.2]|123]12.4|12.5]|12.6 12.7 (12.8 | 12.9 4
5113.0|13.1]13.2|13.3|13.4| 13.5|13.6 1371138 |13.9| .5
© 6114.0(141|1142|143]144|145]14.6]14.7 14.8 | 14.9 6
7115.0115.1(15.2|15.3|15.4|15.5| 15.6 15.7 | 15.8 | 15.9 7
81116.0]16.1]16.2)16.3|16.4| 16.5| 16.6 | 16.7 16.8 | 16.9| 8
91117.0117.1117.2|117.3|17.4|17.5|17.6 | 17.7 17.8 1 17.9 9
10 (118.0118.1|18.2|18.3|18.4| 18.5 18.6 [ 18.7 1 18.8 | 18.9 || 10
11 1119.0(19.1119.2(19.3]19.4|19.5| 19.6 19.7119.8 {19.9 || 11
12 1120.0 [ 20.1 | 20.2 | 20.3 | 20.4 | 20.5 | 20.6 20.7120.8 1 20.9 || 12
13 1121.0(21.1|21.2|21.3|21.4|21.5]|21.6 21.7(21.8 1219l 13
14 122.0(22.1 |22.2]22.3]22.4]22.5|22.6 22.7122.8 229 | 14
15 (123.0(23.1(23.2|23.3]|23.4]|23.5|23.6 23.7123.8 1239 15
16 [|24.024.1|124.2(24.3]24.4| 245|246 2471248 | 249 | 16
17 1125.0125.1125.2(25.3|25.4| 25.5| 25.6 25.7125.8 | 25.9 || 17
18 1126.0 [ 26.1 | 26.2 | 26.3 | 26.4 | 26.5 | 26.6 26.7126.8 | 26.9 || 18
19 1127.01271127.2(27.3|27.4|27.5|27.6 '27.7(27.8 1279 | 19
20 (128.028.1128.2|28.3]|28.4(28.5]|286 28.7128.8 [ 28.9 || 20
21 1129.0 (29.1129.2(29.3]29.4|29.5]20.6 20.7129.8 129.9 || 21
22 (130.0 | 30.1130.2]30.3]30.4|30.5| 306 30.7 | 30.8 | 30.9 || 22
23 1131.0(31.1(381.2|31.3]|31.4|31.5 31.6(31.7(31.8 | 31.9 || 23
24 (132.0(32.1|32.2]|32.3|32.4/(325 32.6 | 32.7 1 32.8 | 32.9 || 24
25 |133.0(33.1|33.2133.3]|33.4|33.5|33.6 33.7133.8133.9 || 25
26 (134.034.1(34.2|34.3|34.4(|34.5]|34.6 34.7 1348 | 34.9 || 26
27 (185.0|35.1|35.2|35.3|35.4(35.5] 356 35.7 1358 | 359 || 27 !
28 |(36.0 | 36.1 | 36.2 | 36.3 | 36.4 | 36.5 36.6 |1 36.7 | 36.8136.9 || 28
29 1137.0(37.1|37.2|37.3|37.4|37.5|37.6 37.7187.8137.9 | 29 i N
30 |[38.0 | 38.1 | 38.2]38.3]38.4| 38.5 38.6 | 38.7 | 3.8 | 38.9 | 30
31 139.0|39.1139.2]39.3]|39.4|39.5]|396 39.71389.8 139.9 || 31 1
32 |(40.0 | 40.1 | 40.2 | 40.3 | 40.4 | 40.5 40.6 | 40.7 | 40.8 | 40.9 || 32 i
83 141.0|41.1141.2441.3|41:4|41.5|41.6 (417|418 | 41,0 | 33 ‘ MED
34 (142.0|42.1'(42.2| 42.3]| 42.4['42.5 42.6 [ 42.7 | 428 | 42.9 | 34 ) ‘CROF‘L
35| 43.0 | 43.1 | 43.2| 43.3 | 43.4 | 43.5 43.6 | 43.7|43.8 | 439 35 M : >
36 || 44.0 | 44.1 | 44.2 4431444 1445|1446 |44.7]|448 449 | 36 !
37 1|45.0| 45.1 | 45.21245.3| 45.4 | 45.5 45.6 | 45.71458 | 45.9 || 37 ’ “n l‘z ‘%5
38 (146.0 | 46.1 | 46.2 | 46.3 | 46.4 [ 46.5 46.6 | 46.7 | 46.8 }46.9 || 38 J
39 |147.0|47.1|47.2|473|47.4| 47.5 47.6 | 47.7147.8 |1 47.9 | 39 . .
.40148.0/48.114821483148414851 486 48.7148.8 148.9 Il 40 ;
Example—I£ poix}h; i‘;% 22.6 ft. above grade, how far should it be from center line : 3 ,;»\»-4'3”"_‘ o
to be a slope stake point? Ans. from Table 30.6. For same slopes but_other widths i " QOB P 4
of roadbed, correct above figures by one-hakf ‘dxﬁ'e:enﬂe‘i “Width of roadbed; thus in g%mmw
example above, for 20 ft. roadbed distance will be 30.6 "'}20'—16) +2 or 2 ft. added to :
80.6 =32.6. For slopes of 1 on 114 seeinside of back cover.
Copyright, 1914, by Eugene Dietzgen Co.
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SR - - DISTANCES FROM CENTER OF ROADWAY FOR
5 IX. (K. 3 < CROSS-SECTIONING.

HEIGHT &) | Roadway 16 feet wide. Side Slopes 1 on 1.
' For Single Track Embankment.
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Table gives cu. yds. in 1 ft. of a triangle of given width and height. Corrections for
tenths of width are one tenth the values found under each height considering the widths
from 1 to 9 as tenths and similarly the corrections for tenths of height are one tenth the
fizures opposite width considering the heights from 1 to 9 astenths. Thusif w =16.2 and
h =5.3, cu. yds. =1.484-.028-}.089 =1.597 cu. yds. or practically 160 cu. yds. per 100 ft.
If w exceeds 40 ft., use one half and multiply result by 2,if both w and h are large use
one half of each and multiply result by 4. Any cross-section may be divided into
triangles by the followingrule. To the triangle of the sum of the outside cuts (or fills)
=h, and 14 the roadbed =w, add the triangles formed by taking the distance out to each
break in turn ( =w’s) by the difference between the cuts (or fills) on each side of it ( =h's)
always subtracting the outer from the inner.
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Example—If point is 22.6 ft. above grade, how far should it be from center line to

al P her widths of
be a slope stake point? Ans. from Table 41.9. For same slopes but other 2
oadbed ect above figures by one-half difference in width of roadbed; thus in example
;l));vzaefot??zg ft. roadbed distance will be 41.9+4(20—16) +2 or 2 ft. added to 41.9 =43.9.
For slopes of 1 on 1 see inside of front cover.
Made in Germany.




